Mocniny I.           3.B
an      a-základ mocniny        n-exponent
PAMATUJ:
1. ar . as = ar+s                     32 . 33 = 35
2. ar : as = ar-s              35 : 33 = 32
3. (ar)s = ar.s                 (32)3 = 36
4. záporný exponent  a-n = 1/an             3-2 = 1/32
5. záporný exponent  1/a-n = an             1/3-2 = 32
6. a1 =  a                                           31 = 3
7. a0 = 1                                            30 = 1
Následující příklady si přepište do sešitu a procvičte. 
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